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IASbaba Daily Prelims Test- CSAT [Day 5] 

 

English and Hindi 

 

Raghuram is considering three alternatives to invest his surplus cash for a week. He wishes 

to guarantee maximum returns on his investment. He has three options, each of which can 

be utilized fully or partially in conjunction with others.  

Option A: Invest in a public sector bank. It promises a return of +0.10% 

Option B: Invest in mutual funds of RPG Ltd. A rise in the stock market will result in a return 

of +5%, while a fall will entail a return of –3%  

Option C: Invest in mutual funds of UTI Ltd. A rise in the stock market will result in a return 

of –2.5%, while a fall will entail a return of +2% 

 

1. The maximum guaranteed return to Raghuram is 

1. 0.25%  

2. 0.10%  

3. 0.20%  

4. 0.15%  

5. 0.30% 

 

2. What strategy will maximize the guaranteed return to Raghuram? 

1. 100% in option A 

2. 36% in option B and 64% in option C 

3. 64% in option B and 36% in option C 

4. 1/3 in each of the three options. 
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3. Suppose you have a currency, named Miso, in three denominations and 50 Misos. In 

how many ways can you pay a bill of 107 Misos? 

1. 17 

2. 16 

3. 18 

4. 15 

5. 19 

 

4. Ten years ago, the ages of the members of a joint family of eight people added up to 

231 years. Three years later, one member died at the age of 60 years and a child was 

born during the same year. After another three years, one more member died, again 

at 60, and a child was born during the same year. The current average age of this 

eight member joint family is nearest to: 

1. 23 years 

2. 22 years 

3. 21 years 

4. 25 years 

5. 24 years 

 

5. The price of Darjeeling tea (in rupees per kilogram) is 100 + 0.10 n, on the nth day of 

2007 (n = 1, 2, ..., 100), and then remains constant. On the other hand, the price of Ooty 

tea (in rupees per kilogram) is 89 + 0.15n, on the nth day of 2007 (n = 1, 2, ..., 365).  

On which date in 2007 will the prices of these two varieties of tea be equal? 

1. May 21    

2. April 11    

3. May 20    

4. April 10    

5. June 30 
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Solutions 

Q 1. Let Raghuram have Rs. 100 to invest. Let Rs. x, Rs. y and Rs. z be invested in option A, B 

and C respectively. 

∴ x + y + z = 100 . 

If there is a rise in the stock market, returns = 0.001x + 0.05y – 0.025z If there is a fall in the 

stock market, returns = 0.001x – 0.03y + 0.02z Now, x, y and z are such that regardless of 

whether the market rises or falls, they give the same return, which is the maximum 

guaranteed return. ∴ 0.001x + 0.05y – 0.025z = 0.001x – 0.03y + 0.02z ∴ y/z = 9/16 Now, 

consider different possible values of x, y and z. The returns are as follows: 

  

X Y Z Returns = 0.001x + 

0.05y – 0.025z 

75 9 16 0.125 

25 27 48 0.175 

0 36 64 0.2 

50 18 32 0.15 

  

 

We see that as the values of y and z increase, the returns increase. 

∴The returns are maximum when x = 0%, y = 36% and z = 64% 

1. The maximum returns are 0.2%. Hence, option 3. 

2. As shown by the table formulated in the first question, maximum returns are guaranteed 

by investing 36% in option B     and 64% in option C. 

Hence, option 2. 

3. The bill can be paid in 18 ways. 

4. The sum of the ages of the members of the family ten years ago = 231 
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∴The sum of the ages of the members of the family seven years ago = 231 + (3 × 8) – 60 = 

195 

∴The sum of the ages of the members of the family four years ago = 195 + (3 × 8) – 60 = 159 

∴The sum of the ages of the members of the family now = 159 + (4 × 8) = 191 

∴Required average = 191/8 = 23.875 ≈ 24 Hence, option 5. 

 

5. Note that the price of Darjeeling tea remains constant after the 100th day (n=100).  

If the prices of the two varieties of tea become equal before n = 100, then 100 + 0.1n = 89 + 

0.15n ∴ n = 220, which is not possible. (Since n has been assumed to be less than 100)  

∴ The prices of the two varieties will be equal after n = 100, i.e..when the price of Darjeeling 

tea = 100 + 0.1 × 100 = 110 ∴ 89 + 0.15n = 110 ∴ n = 140 2007 is not a leap year.  

Number of days till 30th April = 31 + 28 + 31 + 30 = 120 The prices of the two varieties will 

be equal on 20th May. Hence, option 3 
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यघुयाभ एक सप्ताह स ेअऩन ेअधधशषे नकदी का ननवेश कयन ेके लरए तीन ववकल्ऩों ऩय ववचाय कय 
यहा है। वह अऩन ेननवेश ऩय अधधकतभ रयटनन की गायंटी चाहता है। उसके ऩास तीन ववकल्ऩ है, जिनभें 
स ेप्रत्मेक दसूये के साथ संमोिन के रूऩ भें ऩूयी तयह मा आंलशक रूऩ स ेउऩमोग ककमा िा सकता है।  

विकल्ऩ A: एक सावनिननक ऺेत्र के फैंक भें ननवेश कयें। मह + 0.10% के रयटनन का वादा कयता है। 

विकल्ऩ B: RPG लरलभटेड के म्मुचअुर पंड भें ननवेश ककमा िामे। शमेय फािाय भें एक वदृ्धध स े
ऩरयणाभ  5% की वाऩसी होगी   

िफकक एक धगयावट स े -3% का रयटनन होगा।  

विकल्ऩ C: UTI Ltd के म्मुचअुर पंड भें ननवेश ककमा िामे।  शमेय फािाय भें एक वदृ्धध भें 
ऩरयणाभ -2.5% की वाऩसी होगी िफकक एक धगयावट + 2% का रयटनन लभरना होगा।  

 

1.यघुयाभ को अधधकतभ गायंटीशुदा रयटनन मभर सकता है 

 

1. 0.25% 

2. 0.10%   

3. 0.20%  

4. 0.15%  

5. 0.30% 

 

 2. यघुयाभ के गायंटी रयटनन को ककस यणनीतत स ेअधधकतभ ककमा जा सकता है ? 

1. A ववकल्ऩ भें 100% 

2. B ववकल्ऩ भें 36% औय  C ववकल्ऩ भें 64%  

3. C ववकल्ऩ भें 36% औय  B ववकल्ऩ भें 64% 

4. प्रत्मेक तीन ववकल्ऩों भें 1/3. 
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3. भान रीजजए मदद आऩ के ऩास Miso नामभत भुद्रा  तीन भूल्मिगन भें , औय 50 Misos हैं।  
आऩ कैसे कई तयीको स े107 Misos के बफर का बुगतान कय सकत ेहैं? 

1. 17 

2. 16 

3. 18 

4. 15 

5. 19 

 

4. दस सार ऩहरे, आठ रोगों के एक संमुक्त ऩरयिाय के सदस्मों की उम्र का कुर 231 सार होता 
है। तीन सार फाद, एक सदस्म का 60 िर्न की आम ुभें तनधन हो गमा औय एक फच्चा उसी िर्न के 
दौयान ऩैदा हुआ। कपय स े तीन सार के फाद, एक औय सदस्म की 60 भें कपय स ेभतृ्म ुहो गई, औय 
एक फच्चा को उसी िर्न के दौयान ऩैदा हुआ। इस आठ सदस्म संमुक्त ऩरयिाय का ितनभान औसत 
आम ुककसके नजदीक है: 

1. 23 वषन 

2. 22 वषन 

3. 21 वषन 

4. 25 वषन 

5. 24 वषन 

 

5. 2007 के nth (n = 1, 2, ..., 100) ददन भें, दाजजनमरगं चाम का भूल्म (प्रतत ककग्रा रु भें ) 100 
+ 0.10 n है,  औय कपय जस्थय यहता है।   

 दसूयी ओय, 2007 के nth(n = 1, 2, ..., 365)ददन भें,  ऊटी चाम का भूल्म  (प्रतत ककग्रा रु भें )  
89 + 0.15n है । 

2007 भें ककस ददनांक को इन दो ककस्भो की चाम की कीभत फयाफय होगी ? 
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1. भई 21    

2. अप्रैर 11    

3. भई 20    

4. अप्रैर 10    

5. िून 30 

 

 

Solutions: 

1.भान रीजिमे यघुयाभ के ऩास 100 रुऩमे ननवेश कयन ेके लरए है। । भान रेत ेहैं कक रु x, रु  y 
औय रु z ववकल्ऩ  A, B औय  C भें क्रभशः ननवेश ककमे गए।  

 ∴ x + y + z = 100 . 

मदद शमेय फािाय भें वदृ्धध होती है , रयटनन  = 0.001x + 0.05y – 0.025z मदद शमेय फािाय भें 
धगयावट आती  है , रयटनन= 0.001x – 0.03y + 0.02z अफ , x, y औय  z फािाय भें धगयन ेचढ़न े
की ऩयवाह ककमे बफना, एक िैसा रयटनन देत ेहैं  , िो कक अधधकतभ गायंटी रयटनन है। ∴ 0.001x + 

0.05y – 0.025z = 0.001x – 0.03y + 0.02z ∴ y/z = 9/16 अफ, x, y औय z के ववलबन्न संबव भूल्मों 
ऩय ववचाय कयें। रयटनन इस प्रकाय हैं: 

   

X Y Z रयटनन = 0.001x + 

0.05y – 0.025z 
75 9 16 0.125 
25 27 48 0.175 
0 36 64 0.2 
50 18 32 0.15 
     

  

 

हभ  देखत ेहैं कक y औय z के भूल्मों भें वदृ्धध िैसे ही होती है , रयटनन भें  वदृ्धध होती है । 
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 ∴ रयटनन अधधकतभ हैं िफ  x = 0%, y = 36% औय z = 64% 

 

1. अधधकतभ रयटनन  हैं 0.2%. इसलरए, विकल्ऩ 3. 

2. ऩहरे प्रश्न भें तैमाय सायणी स ेिैसा ददखामा गमा है, अधधकतभ रयटनन की गायंटी C ववकल्ऩ भें 
64% औय ववकल्ऩ B भें 36%   ननवेश कयके लभरेगी । 

इसलरए, विकल्ऩ  2. 

3.बफर 18 तयीकों से बुगतान ककमा िा सकता है। 

4. दस सार ऩहरे ऩरयवाय के सदस्मों की उम्र का मोग = 231 

 ∴ सात सार ऩहरे ऩरयवाय के सदस्मों की उम्र का मोग  = 231 + (3 × 8) – 60 = 195 

 ∴चाय सार ऩहरे ऩरयवाय के सदस्मों की उम्र का मोग = 195 + (3 × 8) – 60 = 159 

∴ अफ ऩरयवाय के सदस्मों की उम्र का मोग = 159 + (4 × 8) = 191 

 ∴आवश्मक औसत = 191/8 = 23.875 ≈ 24 इसलरए, विकरऩ् 5. 

 

5.नोट कीजिमे  दाजिनलरगं चाम का भूल्म  100व े ददन के फाद जस्थय है  (n=100).  

यदि चाय की िोनों दकस्मो का मूल्य  n= 100 स ेपहल ेबराबर होता ह ैतो ,  100 + 0.1n = 89 + 0.15n ∴ n = 

220, जो दक संभव नहीं ह।ै  (क्योंदक  n को 100 से कम माना गया ह)ै  

∴ िोनों दकस्मो का मूल्य n = 100 के बाि बराबर होगा जैस ेदक.. जब िार्जजललग चाय का मूल्य ह ै= 100 + 0.1 × 

100 = 110 ∴ 89 + 0.15n = 110 ∴ n = 140 2007 अधिवर्ष नहीं ह।ै   

30 अप्रैर तक ददनों की संख्मा = 31 + 28 + 31 + 30 = 120 दोनों ककस्भो की चाम का भूल्म  
20 भई को फयाफय होगा।  इसीलरए , विकल्ऩ 3 

 

 

 


